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1 = pis 78 4.3 12. 10 3 4.4 12. 80 1 3.6 11.25 3 4.4 13.05 2 3.8 11. 00 2 3.6 11. 05 5 71. 25 2
Iz 2 PO &£ 0.0 0. 00 13 1.3 1. 30 9 1.6 2.90 8 0.0 0. 00 13 2.7 6. 95 7 0.6 0.90 10 12. 05 13
% 3 HH & KB 2.3 8. 20 8 1.4 1. 40 8 1.5 1.85 10 1.6 8. 65 11 2.7 2.95 10 0.8 1. 35 8 24. 40 9
s 4 = £ o 2.6 9. 30 7 2.2 4. 30 6 1.6 4. 35 7 1.6 9. 50 7 2.7 6. 85 8 0.3 3.35 7 37. 65 7
~N R ~ 3 29. 60 18. 50 18. 50 31. 20 24. 80 15.75 138. 356 2
K 5 K H W & 3.9 11.80 4 3.3 10. 05 3 3.9 11. 80 2 4.4 13. 35 1 3.4 10. 80 3 3.1 11.40 2 69. 20 3
H 6 A B O OB 4.9 12. 65 2 3.0 9. 40 4 3.3 10. 85 4 8.0 12. 50 5 3.0 10. 60 4 3.4 11. 20 4 67. 20 4
Q 7 ¥ W E R 4.2 12.75 1 3.5 10. 95 2 4.3 12.00 1 4.4 12. 80 3 4.0 12. 20 1 3.9 12. 45 1 73.15 1
= 8 [ N 4.2 11.50 5 2.8 8.55 5 3.1 10. 20 6 4.0 11. 60 6 2.5 10. 55 5 2.5 10. 85 6 63. 25 5
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7 (L1 i A% 41 o 1= b 2.6 8. 15 9 0.0 0. 00 12 0.0 0. 00 12 1.6 9. 45 9 0.0 0.00 12 0.0 0.00 12 17. 60 11
It L1 =45 42 H & = A 2.2 7.10 12 0.0 0. 00 12 0.0 0. 00 12 1.6 7.65 12 0.0 0. 00 12 0.0 0.00 12 14.75 12
7 (L1 i A% 43 K OWOHE 9R| 2.2 7.35 10 1.2 1. 20 10 1.5 2. 10 9 1.6 9. 50 7 2.3 5. 80 9 0.8 1. 20 9 27. 15 8
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